our LeArning xecys
ROdICIoNn and SuHSraction

» Why?

What is the inverse of subtract 3007

Which place value columns have stayed the samefchanged? Why?

Will the value in the 15, 10, 1002, 10004 increase or decrease? By how much?
How can you represent the problem using base 102

Daes it matter which column you add/subtract first?

Do you need to exchange?

Which ealumn can you exchange from?

I you cannot exchange from the 10s5/100s what do you need to do?

?

ONEeS, Gens, hundrecds,
THOUSANAS, column,
INCYreANc, HeCreaNe,
CXCeChange, column mevthod,
efricient method,
cAalcuiavion, STFATCLY, The
diffcrence between,
ALLTOLCTHEY, CETimate,
inwversec
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Find the missing numbers. I ey ] .
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Ican add and SubBtracstis, 105, 1005 Aand 1000%
Ican ddd up to 2 4-digit numbers - 1o Cxenange
Icandadup $o 2 4-digit numpers -one Cxenange
ICan ddd up to 2 4-digLic numMbBers - More than onme cxcRange
ICAN SUDBTFrACT UP U0 TWO 4-diglt numMbers - no cxcnange
ICAN SUDBTIACT KNP $O TWO 4-AigiC numMbers - one excnange
ICAN SUDHTIrACT UP UO TWO 4-Gigit nNUMDHEers - More tham one
exchnange
ICAN SHBTIrACS erriciently
Ican estimatec aAnswers
Ican cHeCk strasesies

PSHE: Managing
money.

Provionsiy... wvenra MCRUeee

Im Year 3, childrcn will have cacuiascd nadivion and |y wenr 5, children will MOWVC ORGSO
addision and subtraction probicms up 6o Subtraction |eaicuinving up vo 5 Al nUMbErs.
s-aigiv.




